=
=)
=
==
=.
=
=1
=
=3
o=
=.
=
oy
=
=
=
=
=
o3
=]
=
=
=
=2
==
=
=
=
=g
=
«o.
=
s

sales(OL®- 6¢)04d saues(SlLP-89)39 sales(6P- 8¥)30

CE(Cb 8 ° 6159) Series (stainless-steel bolt M4)

CE200 CE200ST CE204,CE204M CE400
Cross 90°hole A screw stopper for fine adjustments One-siged boss Split T to tuck without
for right-angle shaft || Cross 90°hole o dlsassemt()cléga%;‘gfalg?e?
attachment It can be used || Boss i 29 ™ ttachment)
c for the non-slip for free
ap screw , —__orthe fine ?8 _i| assembly
?9 K o adjustment of Z with other
-y "} a positioning. ™ parts
= 2 Aresin screw(M3) g ™ D15x19+L
o R o<t Withstend load6.2N _
- & ol Part No. L
o o = CE204 16
8 ' ®15x34 915 |\%8  ¢15%x34 CE204M | 30 31X25%16
PM217 (oro9) PM415,PM415L

Round-internal cap(black)

Material: resin
1 bag for 4 parts

9

3
O
S

?10x12

Screw with handle
in case of high-frequency
for tightening

Material=
SUS304

Part No. L
25

PM415L |29.5

GE((b 8. ) 12) series (stainless-stesl bolt M4)

GE200

PMC12 o212

PM415,PM415L

Cross 90°hole
for right-angle shaft

attachment
»i12 | <
28 5ol
&

?15

®2ox39

Round-internal cap(black)

Material: resin
1 bag for 2 parts

8

D11.9 \iy

®11.9%x9.5

Screw with handle
in case of high-frequency
for tightening

Material=
SUS304

Part No. L

PM415 |25

PM415L |29.5

FC(Qb Q. Qb 1 0) Series (stanless-steel bolt M4)

Round-internal cap(black)

Material: resin
1 bag for 4 parts

3 9

®10

P10x12

Round-internal cap(black)

Material: resin
1 bag for 2 parts

6

$9.9

®»9.9x7

Screw with handle
in case of high-frequency
for tightening

Material=
SUS304

Part No. L

PM415 |25

PM415L [29.5

FC200 FC200ST FC204,FC204M
Cross 90°hole A screw stopper for fine adjustments || One-sided boss
for right-angle shaft ||Cross 9O°h0|le A .
t can be use
attachrg:pn:orew for the non-slip ?9  for free assembly with other parts
or the fine Boss
adjustment of
a positioning. ?10 _
i rew(M3) 2
\/?VI?WSS?;WZ \eov;d’\:ABSEN ~ 5 @ ]NBXEOT_L
art No.
0 2 Fcoo4 17
®15x37 ?®15%37 FC204M |30
PM217 (Foro9) PMC10 or®10) PM415,PM415L

@For 300, 400 type, please
match the mark on both
edge phase on assembly.



